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X sy sl 1A | 2H [ 3A | 4H | A | 6H [ 7H | 84 | 9A | 10H [ 114 | 124

7 | 207| 16| 13| 20| 19| 12| 13| 24| 16| 21| 23| 12| 18

B | 98 7 7 7 8 5 5( 13| 10| 12| 10 4 10

A I| 109 9 6| 13| 11 7 8| M 6 9| 13 8 8

th x| 26 2 1 4 2 - 3 2 4 2 4 1 1

B 11 1 - 1 - - 1 2 2 1 2 - 1

A T 15 1 1 3 2 - 2 - 2 1 2 1 -

H x| 18 - 1 2 1 1 2 5 1 2 1 1 1

SHE N T - - 1 - - - 3 1 1 1 - 1

A T 10 - 1 1 1 1 2 2 - 1 - 1 -

] x| 29 2 1 2 1 2 3 1 1 4 4 4 4

RN B | 2 1 1 1 1 1 - 1 2 2 1 1

AT 15 - - 1 - 1 2 1 - 2 2 3 3

[} x| 29 3 - 2 3 1 1 4 4 3 5 1 2

B 13 1 - 1 1 1 1 1 1 2 3 - 1

A T 16 2 - 1 2 - - 3 3 1 2 1 1

% e MK 48 6 6 4 4 6 3 3 2 3 2 3 6

B 19 1 3 1 2 2 2 1 1 1 1 2 2

A Tl 29 5 3 3 2 4 1 2 1 2 1 1 4

7 e de K| 30 1 3 3 4 1 1 5 2 1 5 1 3

B 8 16 1 2 2 1 - - 4 2 - 1 - 3

A Il 14 - 1 1 3 1 1 1 - 1 4 1 -

%@ = x| 13 1 - 1 3 1 - 2 2 2 - - 1

B 11 1 - - 3 1 - 1 2 2 - - 1

A Il 2 - - 1 - - - 1 - - - -

1 {E| x| 14 1 1 2 1 - - 2 - 4 2 1 -

B % 6 - 1 - - - - 1 - 3 - 1 -

A Il 8 1 - 2 1 - - 1 - 1 2 - -
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e | g | O | | g | e

R 184 40 33 7 3.6 2.9 0.6

19 39 36 3 3.4 3.1 0.3

20 44 37 7 3.9 3.3 0.6

21 46 34 12 4.0 3.0 1.0

22 46 34 12 4.0 3.0 1.0

23 41 36 5 3.6 3.1 0.4

24 44 34 10 3.9 3.0 0.9

25 35 28 7 3.2 2.6 0.6

26 29 22 7 5.2 4.0 1.3

27 34 26 8 3.2 2.4 0.7
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X gy ¥kl 1A | 28 | 3A | 4A [ 5A |68 | 7TH | 88 | 9A [10A [ 114 |12/
® | 34 1 2 1 2 2 1 6 6 5 3 2 3
% oM % B 26| 1| -| -| 2| 1| 6| 5| 3| 3| 1
BRysm&ER®EY 8 - 1 1 2 - - - 1 2 - 1 -
o Xl 2 - - - - - - 1 1 - - - -
% W o PE 2 - - - - - - 1 1 - - - -
RHEE R - - - - - - - - - - _ _ _
xR Xl 2 - - - - - - 1 1 - - - -
% W % PE 2 - - - - - - 1 1 - - - -
R AR T - - - - - - - - - - _ _ _
F x| 8 - - - - - 1 - 2 3 1 - 1
%M JE P 5 - - - - - 1 - 1 1 1 - 1
B AT 3 - - - - - - - 1 9 - _ _
] X 2 - - - 1 - - - - - 1 _ _
% W o E 1 - - - - - - - - _ 1 _ _
FHEERSE 1 - - - 1 - - - - . - . _
7o MmO - 1 1 - 1 - - - - - 9 1
wom oo 4l | 1| | - o - -| -| -| -| 1| 1
FLHT A E S T S R ) R e R R S
7 e db X 7 1 - - - - - 3 1 - 1 - 1
wom ool 7| 1| - -| -| -| -| 3| 1| -| 1t -| 1
R AR T - - - - - - - - , - _ _ _
7 = X 4 - - - 1 1 - _ 1 1 _ _ _
% MW E PE 3 - - - - 1 - - 1 1 - — _
R AR T 1 - - - 1 - - - - - - — _
% {3 X 3 - 1 - - - - 1 - 1 - - _
wom ool 2| | - | -| -| -| | -| | -| -| -
R AR T 1 - 1 - - - - - - - - — _
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s |2t |27 |36 | | s |20 | 27 |36 | b | s |21 |27 |36 | p
“ E 4 207 181 8 10 8| 98 72 8 10 8 109| 109 - - -
i X 26 24 1 i - 11 9 1 i - 151 153 —| —| -
i X 18 16| —| — 2 8 6] —| — 2 10| 10f —-| —| -
&3] X 29 24 1 a4l  —| 14 9 1 al  —| 15| 18} —| —| —
[if) X 29| 28 i -1 —=| 13| 12 i -1 -1 16| 118 —| —| -—
% o om K 48 44 1 1 2l 19| 15 1 1 2l 29| 29 —| —| -—
7 oAb K 30 23 3 2 2 16 9 3 2 ol 14| 14 —| —| -
7 = X 13 10| -— 1 2| 11 8l — 1 2 2 ol —| —| -
e 1A X 14 12 1 1| - 6 4 1 | - 8 8l - —| —
F=42 TERRBAFHAICHT-BOEE OEEHR) BIFEEL
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E N g 207| 181 8 10 8 98] 72 8 10 8| 109| 109 - - -
15 B KR 1 i -1 -1 -1 -1 -1 -1 -l - 1 i -1 - -
15 ~ 19 % 201 19| —| - 1 2 i -1 - i 18 18] —| —| -
20 ~ 24 % 28] 23 1 1 3 9 4 1 1 31 19 19 —| —| -—
25 ~ 29 % 41| 37 2 2] —| 20| 16 2 2l —| 21| o2l —-| —| -
30 ~ 34 % 57| 51 2 3 | 35 29 2 3 i 22 22 —| —| -
35 ~ 39 % 2| 34 3 3 2| 25| 17 3 3 2l 17| w7l —| —| -
40 ~ 44 % 17l 15| — 1 1 6 a4 — 1 i 1 u - - -
* %) i 1 | -1 - - 1 i -1 -1 -1 -1 -1 -1 -l -
=43 BOEHE ORmREHR) AIH =X BIFEER
(BT + A) R 274
s fi A i * B REEEEAEEEEEE
E N ] 207 26 18 29 29 48 30 13 14
15 % K il 1 - - — - — 1 - -
5 ~ 19 5% 20 4 2 2 3 6 3 — —
20 ~ 24 % 28 4 2 5 2 5 5 2 3
25 ~ 29 % 41 4 7 1 5 8 8 6 2
30 ~ 34 % 57 8 3 11 8 14 4 4 5
35 ~ 39 % 492 5 4 8 6 8 8 1 2
40 ~ 44 5% 17 1 — 2 4 7 1 — 2
* ) i 1 — — — 1 — — — —
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K 4 wu [ 1n [on [sn | an [ 5n [en | on s ] on [1on|un]i2n
@ s | 6.366| 421 468 747| 48| 50| 405 628 500[ 435 460| e60| 573
IZFI X 952 63 73 113 65 90 64 89 78 64 75 106 72
% X 533 41 42 71 32 38 45 39 38 44 37 52 54
% X 756 45 70 76 59 72 41 82 58 46 65 88 54
ic) X 1,176 63 79 143 92 119 85 122 93 69 86 124 101
ﬁ 1E % X 1,357 80 95 148 113 126 85 141 107 105 86 134 137
z 17.’5 It X 523 52 33 62 56 51 30 44 37 39 31 44 44
ﬁ E X 419 30 32 55 31 31 13 36 32 32 34 50 43
17.’5 =] X 650 47 44 79 41 53 42 75 57 36 46 62 68
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% B f'% 19 24 29 34 39 44 49 54 59 ij\: ’
@ % |4607 —| 66| 713| 1,955| 1,150| 516\ 205| 64| 18] 1| —| —
15 & A& - — — — — — — — — — — — —
5 ~ 19 & | 116 a9 a6 13 6| o —| | | -] -| -
20 ~ 24 & | 988 —| 15| s00| 61| s2| 25| 4 | —| —-| -| -
25 ~ 29 % 2,112 — 21 147| 1,319 4761 130 34 2 2 — — —
30 ~ 34 % 1,013 — — 17 230 5141 194 47 11 — — — —
35 ~ 39 57 353 — — 3 27 74| 140 81 23 4 1 — —
0 9~ 4 o5] —| —| —| 5| e 23] 33 19| o -] -| -
45 ~ 49 % 17 — — — — 1 2 6 7 1 — — —
50 ~ 54 % 3 — — — — — — — 1 2 — — —
55 ~ 59 % — — — — — — — — — — — — —
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(AL« %)
JR B NS 2[E
K PN

i Fn 50 4 26.7 24. 4 27.0 24.7
60 28.0 25.3 28.0 2b.2 28.2 25.5

Vo 8 4R 28.1 26. 2 27.9 26.0 28.5 26.4
9 28.1 26. 4 28.0 26.1 28.5 26.6
10 28.2 26. 6 28.1 26. 3 28.6 26.7
11 28.4 26. 8 28. 2 26.5 28.7 26. 8
12 28.6 27.0 28.3 26.7 28.8 27.0
13 28. 8 27.1 28.5 26. 8 29.0 27.2
14 28.9 27. 4 28.6 27.1 29.1 27.4
15 29.3 27.7 28.9 27.3 29.4 27.6
16 29.4 27.8 29.1 27.5 29.6 27.8
17 29.5 27.9 29.3 27.6 29.8 28.0
18 29.7 28.2 29.5 27.8 30.0 28.2
19 29. 8 28.2 29.5 27.8 30.1 28.3
20 29.9 28.3 29.7 28.0 30. 2 28.5
21 30.1 28.5 29.8 28.2 30. 4 28.6
22 30. 2 28.8 30.0 28.4 30.5 28.8
23 30. 4 28.9 30.1 28.6 30.7 29.0
24 30.5 29.1 30. 2 28.7 30.8 29.2
25 30.7 29.4 30. 4 28.9 30.9 29.3
26 30.7 29.3 30.5 29.0 31.1 29.4
21 30. 6 29.1 30.3 28.9 31.1 29.4
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&A1 RRIZH =R B IR

BEhEHeE!

(AT - ) K274
X 2y | k| 1A [ 2A | 3H | 43 | 5A [ 6A | 7TH | 8H | 9A |10 | 114 | 124
73 #¥(2,178( 184| 169| 226| 190 147 207 192 175 177 176 149| 186
G2 x| 258 17| 21| 18| 19| 20| 29| 23| 20 22| 27| 18 24
3 x| 221 14| 15| 30| 18| 11| 18] 12| 25| 16| 21| 18] 23
£ x| 231 20| 16| 27| 19| 21| 22| 20| 15| 24| 15| 14| 18
[ic} x| 379 29| 32| 27| 34| 26| 50| 34| 30[ 34] 28] 32| 23
% fe m K| 446| 38| 31| 58| 45| 23| 43| 40| 25| 29| 42| 31| 41
7 e Jb K| 246| 24| 22| 26| 17| 16| 21| 25| 22| 24| 15| 11f 23
% B x| 142 16| 13| 12| 11| 11| 10| 18] 16 8 8l 11 8
e 1A x| 255 26| 19 28] 27| 19| 14| 20 22 20| 20| 14| 26
48 FEEER A 1= 5B HARE Bl B B 44 2

(BT« 1) SRR THE

[Fi Je=- 440 i 5y B s #wH REIES Fnfi Rt

# - 2,178 1,922 196 4 15 41 —
6 7 H K W 65 57 8 — — — —
64 A ~ 1R 78 71 6 — — 1 —
14~ 24E KM 183 158 18 1 1 5 —
24~ SHERIH 153 138 12 — 1 2 —
3~ AR 123 111 9 — 1 2 —
YA ~ BEERTH 115 100 9 — 2 4 —
BEE ~ 104 A 485 421 47 1 4 12 —
104E~ 154E KT 312 276 29 1 — 6 —
154E~ 204E AT 237 212 21 — — 4 —
20 4 Lk 344 305 31 - 3 5 —
A~ 3 83 73 6 1 3 — —
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